Maths

1a. match the calcuvlaftion fo the comect

answer.

4,941 add one

thouwsand, hwo B

huvndred and
twenty-five

Bqghi thousand

100
LXX XY

Bqghl thousand
100 100

wa 8,000

sevenhy-six

1b. Mafch the calculafion to the comect

answer.
2.000
A
0o nine
Five thousand
' Eght thousand
four hundred B ght i.mm
and eighty- LAXIX
two add 3. 497
| 9.000
Sevenhy-nine

2a. What number is missing from the

calculation?

£

&7 + 381 = 9948 ]

2b. what number is missing from the

calculafion?

[ 4258+55

1 =%.83% ]

3a. Complete the calcwlation.

[ 9.369 + 425 = ]

3b. Complete the calculafion.

[ 6,366 + 2,273 = ]

4a. Complete the calculations with the
same number so that the missing digit

leads o an exchange.

A 2.3

a+ 1,454 =

3926 + 2,

43

4b. Complete the calculafions with the
same number so that the missing digit

leads o an exchange.
A 4628+21 1=
B
63 |5+3413=




